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Exercice 1

Résoudre le système linéaire suivant en utilisant une méthode par combinaisons et uniquement
de cette façon :

−x + y + −2z = 3
−x − y + z = −1
3x + 5y − 7z = 1

Exercice 2

Résoudre le système linéaire suivant en utilisant une méthode par combinaisons et uniquement
de cette façon :

2x + 5z = 3
−x + 2y + z = 5
x + 3z = 2

Exercice 3

Résoudre le système linéaire suivant en utilisant une méthode par combinaisons et uniquement
de cette façon :

x − 3y + 5z = 1
2x − 5y + 3z = −2
3x − 8y + 6z = −3

Exercice 4

Résoudre le système linéaire suivant en utilisant une méthode par combinaisons et uniquement
de cette façon :

x − 2y + 7z = 1
−5x + 5y − 3z = −1
x − y + z = 1

Exercice 5

Résoudre le système linéaire suivant en utilisant une méthode par combinaisons et uniquement
de cette façon :

x + y = 2
−x − y + z = −3
2x + 3y + 2z = 4
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Exercice 6

Résoudre le système linéaire suivant en utilisant une méthode par combinaisons et uniquement
de cette façon :

x − 2y + z = −1
−2x + 4y − 3z = −1
3x − 5y + 2z = 1

Exercice 7

Résoudre le système linéaire suivant en utilisant une méthode par combinaisons et uniquement
de cette façon :

x − 2z = 0
3x + y − 5z = 4
−2x + 2y + 5z = 7

Exercice 8

Résoudre le système linéaire suivant en utilisant une méthode par combinaisons et uniquement
de cette façon :

2y − z = 1
x + y + z = 2
2x − y + 3z = 4
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